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1 Cahier des charges

— Le jeu va s’inspirer du Blackjack

— Il y a un croupier, un joueur et une pioche

— Une version ot la mise est remplacée par des points

— On commence avec 10 points, -2 si le joueur perd, +2 si le joueur gagne
— Sans interface graphique

2 Spécifications fonctionnelles

— Language de programmation : C

— Avec la possibilité de tirer une carte, rester ou doubler la mise avec un
maximum de 5 cartes

— On a une main de 4 cartes au début de la partie

— Une pioche générée aléatoirement

— Un croupier qui pioche tant qu’il a moins de 16 points

— Deux niveaux, un croupier qui veut tout le temps arriver a 21 points (le
max), et un croupier qui veut jouer moins dangereusement

— Fin de jeu : Soit proche de 21, soit 21 pile, soit plus de 21. S’il dépasse,
il perd. Le plus proche de 21 gagne.

3 Plan de réalisation
— La personne A s’occupe du tirage des cartes
— La personne B s’occupe du croupier

— La personne C s’occupe du joueur
— La personne D s’occupe du systéme de points

4 Code

#include <stdio.h>
#include <stdlib.h>
#include <conio.h>

int cards[53] = {1,2,3,4,5,6,7,8,9,10,11,12,13,
14,15,16,17,18,19,20,21,22,23,24,25,26,
27,28,29,30,31,32,33,34,35,36,37,38,39,
40,41,42,43,44,45,46,47,48,49,50,51,52};

int player1[10];
int player2[10|;
int dealer[10];

int real value(int nb) {
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if (mb==1||nb == 14 || nb == 27 || nb == 40) {

return 1;

} else if (nb == 2 || nb == 15 || nb == 28 || nb == 41) {
return 2;

} else if (nb == 3 || nb == 16 || nb == 29 || nb == 42) {
return 3;

} else if (nb == 4 || nb == 17 || nb == 30 || nb == 43) {
return 4;

} else if (nb == 5 || nb == 18 || nb == 31 || nb == 44) {
return 5;

} else if (nb == 6 || nb == 19 || nb == 32 || nb == 45) {
return 6;

} else if (nb == 7 || nb == 20 || nb == 33 || nb == 46) {
return 7,

} else if (nb == 8 || nb == 21 || nb == 34 || nb == 47) {
return 8;

} else if (nb == 9 || nb == 22 || nb == 35 || nb == 48) {
return 9;

} else if (nb == 10 || nb == 23 || nb == 36 || nb == 49) {
return 10;

} else if (nb == 11 || nb == 24 || nb == 37 || nb == 50) {
return 10;

} else if (nb == 12 || nb == 25 || nb == 38 || nb == 51) {
return 10;

} else if (nb == 13 || nb == 26 || nb == 39 || nb == 52) {
return 10;

}

char real color(int nb) {

}

if (nb >= 1 && nb <= 13) {
return x’;

} else if (nb >= 14 && nb <= 26) {
return '#’;

} else if (nb >= 27 && nb <= 39) {
return '&’;

} else {
return ’$’;

}

int victory(int sum) {

if (sum <= 21) {
return 0;

} else if (sum > 21) {
return 1;
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void draw_card(int value, char couleur) {

if (value == 1 || value == 14 || value == 27 || value == 40) {

printf(" ffffffffffff \n");

printf("| A %c [\n",couleur);

printf("| \n");

printf("| \n");

printf("| [\n");

printf("| [\n");

printf("| \n");

printf("| A %c|\n",couleur);

printf(" ————— \n\n");

} else if (value == 11 || value == 24 || value == 37 || value == 50) {
printf(" ———————————— \n");
printf("| J %c [\n",couleur);

printf("| \n");

printf("] [\n");

printf("| \n");

printf("| \n");

printf("] [\n");

printf("| J %c|\n" couleur);

printf(" ——— \n\n");

} else if (value == 12 || value == 25 || value == 38 || value == 51) {

printf(" ——— \n");
printf("| Q %c [\n",couleur);

printf("| [\n");
printi("] [\n");

printf("] [\n");

printf("] [\n");

printf("] [\n");

printf("| Q %c|\n",couleur);

printf(" ——————————— \n\n");

} else if (value == 13 || value == 26 || value == 39 || value == 52) {

printf(" ——— \n");
printf("| K %c [\n",couleur);

printf("] [\n");
printf("| \n");
printf("| \n");
printf("| \n");
printf("] [\n"):
printf("| K %c|\n",couleur)
printf(" ——————————— \n\n");
} else {
printf(" ———————————— \n");
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printf("|%2d %c |\n",real value(value),couleur);
printf("| [\n");

print("] [\n"):

printf("| [\n");

printf("| \n");

printf("| [\n");

printf("| %2d %c[\n");

printf(" ———————————— \n\n");

}

int main() {

int i = 0, card_acc, acc = 2, init__ dsum;
int res_pl, suml = 0;
int res_p2, sum2 = 0;

printf("Welcome to BLACKJACK !\n");
printf("Press any key to continue...\n\n");

getch();

printf(" —> Your goal is to score exactly 21 points or the nearest possible
to 21.\n");

sleep(1);

printf(" —> You cannot exceed 21 points.\n");

sleep(1);

printf(" —> You must have a final score greater than the dealer’s one.\n"
);

sleep(1);

printf(" —> If the dealer’s final score is greater than 21, everyone who has
a score less or equal to 21 wins the game.\n\n");

sleep(1);

printf("Are you ready ?\n\n");

printf("Press any key to continue...\n");

getch();

system("cls");

printf("The game begins in...\n");
printf("3\n");

sleep(1);

printf("2\n");

sleep(1);

printf("1\n");

sleep(1);

printf("GO!");

sleep(1);
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system("cls");

srand (time(NULL));
dealer|0] = (rand() % 52) + 1;

dealer[1] = (rand() % 52) + 1;

cards[dealer[0]—1] = 0;
cards[dealer[1]—1] = 0;

printf("Dealer first card is : \n\n");
sleep(1);

draw _card(dealer[0],real color(dealer[0]));
sleep(1);

printf("Dealer second card is : ");
sleep(1);

printf("hidden card\n\n");

sleep(1);

printf("Press any key to continue...\n");
getch();

system("cls");

printf("Each player will now receive their two first initial cards
sleep(2);

player1[0] = (rand() % 52) + 1;

if (cards|player1[0]—1] == 0) {
while (cards[player1[0]—1] == 0) {
player1|0] = (rand() % 52) + 1;

cards|player1[0]—1] = 0;
} else {

cards[player1[0]—1] = 0;
}

playerl[1l] = (rand() % 52) + 1;

if (cards|playerl[l]—1] == 0) {
while (cards[playerl[l]—1] == 0) {
playerl|1] = (rand() % 52) + 1;

cards|playerl[1]—1] = 0;
1 else {

cards|playerl[1]—1] = 0;
}

An\n");
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player2|0] = (rand() % 52) + 1;

if (cards|player2[0]—1] == 0) {
while (cards|player2[0]—1] == 0) {
player2[0] = (rand() % 52) + 1;

cards[player2[0]—1] = 0;
} else {
cards[player2[0]—1] = 0;

player2[1] = (rand() % 52) + 1;

if (cards|player2[1]—1] == 0) {
while (cards|player2[1]—1] == 0) {
player2[1] = (rand() % 52) + 1;

cards|player2[1]—1] = 0;
} else {
cards[player2[1]—1] = 0;

printf("Player 1 first cards are : \n\n");
sleep(1);

draw _card(player1[0],real color(player1[0]));
sleep(1);

draw _card(player1[1],real color(playerl[1]));
sleep(1);

printf("Player 2 first cards are : \n\n");
sleep(1);

draw_card(player2[0],real _color(player2[0]));
sleep(1);

draw _card(player2[1],real color(player2[1]));

printf("Press any key to continue...");
getch();
system("cls");

printf("Player 1, you can now choose either to turn more cards up or to
keep your current values :\n\n");
sleep(2);

printf("Your current cards are : \n\n");
draw _card(player1|[0],real color(player1[0]));
draw _card(playerl[1],real color(playerl[1]));
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printf("Would you like to turn up more cards ? Enter 1’ for YES or ’2’

for NO : \n");
scanf("%d", &res pl);
if (res_pl ==1) {
while(res_pl == 1) {
card_acc = (rand() % 52) + 1;
if (cards|[card _acc—1] == 0) {
while(cards[card _acc—1] ==

) {
card_acc = (rand() % 52) + 1;

)

cards|card _acc—1| = 0;
} else {

cards[card _acc—1] = 0;
}

playerlacc] = card _acc;
+-tacc;

while (playerl[i] != 0) {
suml += real value(playerl[i]);
+H;

}

printf("Your next card is : \n\n");

sleep(1);

draw _card(card acc,real color(card acc));
sleep(1);

if (victory(suml) == 1) {

printf(" —> Your final cards are : <—\n\n");

for (int a = 0; playerl[a] != 0; ++a) {

draw _card(playerl[a],real color(playerl|a]));

printf("\n");

printf("Your final score is %d, which is greater than 21. You've

lost the game \n" suml);
suml = 0;
break;
} else {

printf("Would you like to turn up more cards ? Enter '1’ for

YES or 2’ for NO : \n");
scanf("%d", &res pl);

}
if (suml !=0) {
printf("\n");
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printf("You decided to stop turning up new cards. Your final
score is : ");

sleep(1);

printf("%d\n",sum1);

}

} else {

while (playerl[i] != 0) {
suml += real value(playerl[i]);
+H;
¥

printf("\n");

printf("You decided to keep your current values. You can no longer

have more cards. Your final score is : %d\n", suml);

printf("Press any key to continue...");
getch();
system("cls");

i=0;
acc = 2;

printf("Player 2, you can now choose either to turn more cards up or to
keep your current values :\n\n");
sleep(1);

printf("Your current cards are : \n\n");
draw _card(player2|[0],real _color(player2[0]));
draw _card(player2[1],real color(player2[1]));
printf("Would you like to turn up more cards ? Enter 1’ for YES or ’2’
for NO : \n");
scanf("%d", &res p2);
if (res_ p2==1){
while(res p2 == 1) {
card _acc = (rand() % 52) + 1;
if (cards|[card acc—1] == 0) {
while(cards|card _acc—1] == 0)
card_acc = (rand() % 52) +
}

cards[card _acc—1] = 0;
} else {
cards|[card _acc—1] = 0;

{
1.

)

player2|acc] = card _acc;
+-tacc;
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while (player2[i] != 0) {
sum?2 += real value(player2[i]);
+H;

}

printf("Your next card is : \n\n");

sleep(1);

draw _card(card acc,real color(card acc));
sleep(1);

if (victory(sum2) == 1) {
printf(" —> Your final cards are : <—\n\n");
for (int b = 0; player2[b] != 0; ++b) {
draw _card(player2[b],real _color(player2[b]));

printf("\n");

printf("Your final score is %d, which is greater than 21. You’ve
lost the game \n",sum?2);

sum?2 = 0;

break;

} else {
printf("Would you like to turn up more cards ? Enter 1’ for

YES or 2’ for NO : \n");

scanf("%d", &res p2);

}

}
if (sum2 1= 0) {
printf("\n");
printf("You decided to stop turning up new cards. Your final
score is : ");
sleep(1);
printf("%d\n",sum?2);

}

} else {

while (player2[i] != 0) {
sum?2 += real value(player2[i]);
+41i;
}

printf("\n");

printf("You decided to keep your current values. You can no longer

have more cards. Your final score is : %d\n", sum2);

printf("Press any key to continue...");

getch();
system("cls");
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368 acc = 2;

369

370 printf("—— THIS IS THE DEALER’S TURN ——\n\n");

371 sleep(2);

372

373 init_dsum = real value(dealer|[0]) + real value(dealer[1]);

374 printf("Dealer current cards are : \n\n");

375 sleep(1);

376 draw _card(dealer|[0],real color(dealer[0]));

377 sleep(1);

378 draw_card(dealer[1],real color(dealer[1]));

379 sleep(2);

380

381 if (init dsum < 16) {

382 printf("Dealer’s score is less than 16. He will now turn up as much as
necessary cards until he gets a score greater than 16.\n\n");

383 sleep(2);

384 while (init dsum < 16) {

385 init dsum = 0;

386 card_acc = (rand() % 52) + 1;

387 if (cards[card acc—1] == 0) {

388 while(cards[card _acc—1] == 0) {

389 card_acc = (rand() % 52) + 1;

390

391 cards|[card _acc—1] = 0;

392 } else {

393 cards|[card _acc—1] = 0;

394 }

395 dealer[acc] = card _acc;

396 +-+acc;

397 for (int ¢ = 0; dealer|c| != 0; ++c¢) {

398 init _dsum += real value(dealer|c]);

399 }

400 }

401 printf("Dealer’s hand is : \n\n");

402 draw_card(dealer|0],real color(dealer[0]));

403 draw_card(dealer[1],real color(dealer[1]));

404 sleep(1);

405 for (int d = 2; dealer[d] != 0; ++d) {

406 draw _card(dealer[d],real color(dealer[d]));

407 sleep(1);

408

409 printf("\n");

410 sleep(1);

411 printf("Dealer’s final score is : %d\n\n",init _dsum);
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sleep(1);

if (init _dsum > 21) {

printf("NO WAY ! Dealer’s score is greater than 21 ! Everyone who
has a final score less than 21 wins the game \n\n");

sleep(1);

if (suml !=0) {
printf("Player 1 wins the game! —— BLACKJACK ——\n");

} else {
printf("Player 1 loses the game!\n\n");

}

if (sum2 = 0) {

printf("Player 2 wins the game! —— BLACKJACK ——\n");
} else {

printf("Player 2 loses the game!\n\n");
}

} else {

printf("You win the game if you have a final score greater than %d
An\n",init dsum);

sleep(2);

if (suml != 0 && suml > init dsum) {
printf("Player 1 wins the game with %d points! —>

BLACKJACK <—\n",suml);

} else {
printf("Player 1 final score is less than dealer’s score!\n");
printf("Player 1 loses the game!\n\n");

if (sum2 != 0 && sum2 > init_dsum) {
printf("Player 2 wins the game with %d points! —>
BLACKJACK <—\n",sum?2);
} else {
printf("Player 2 final score is less than dealer’s scorel\n");
printf("Player 2 loses the game!\n\n");

}

} else {
printf("You win the game if you have a final score greater than %d.\n
\n",init dsum);
sleep(2);
if (suml != 0 && suml > init _dsum) {
printf("Player 1 wins the game with %d points! —>
BLACKJACK <—\n\n",suml);
} else if (suml > 0) {
printf("Player 1 final score is less than dealer’s score!\n");
printf("Player 1 loses the game!\n\n");
} else {
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printf("Player 1 final score is greater than 21!\n");
printf("Player 1 loses the game!\n\n");

if (sum2 != 0 && sum?2 > init dsum) {
printf("Player 2 wins the game with %d points! —>
BLACKJACK <—\n\n",sum?2);
} else if (sum2 > 0) {
printf("Player 2 final score is less than dealer’s score!\n");
printf("Player 2 loses the game!\n\n");
} else {
printf("Player 2 final score is greater than 21!\n");
printf("Player 2 loses the game!\n\n");

}

printf("Press any key to continue...");
getch();

return 0;
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